
MATHS

BOOKS - VGS BRILLIANT MATHS

(TELUGU ENGLISH)

COORDINATE GEOMETRY

Example

1. What is the distance between A ( 4 , 0) and B

( 8 , 0) ?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_BP3TNNxzo6ed


Watch Video Solution

2. A and B are two points given by ( 8 , 3 ) , ( - 4,

3) . Find the distance between A and B .

Watch Video Solution

3. Find the distance between two points A ( 4 ,

3) and B ( 8 , 6) . 

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_BP3TNNxzo6ed
https://dl.doubtnut.com/l/_Yd6CdUOaGtR8
https://dl.doubtnut.com/l/_w7Pu1g3JtPjM
https://dl.doubtnut.com/l/_3vWwReISihiQ


4. Show that the points A = ( 4 , 2) , B ( 7 , 5)

and C ( 9 , 7) are collinear.

Watch Video Solution

5. Are the points ( 3 , 2) , ( - 2 , - 3) and ( 2 , 3)

form a triangle ? 

Watch Video Solution

(AS2)

https://dl.doubtnut.com/l/_3vWwReISihiQ
https://dl.doubtnut.com/l/_s2KXK84AzDwG


6. Show that the points ( 1 , 7) , ( 4 , 2) , ( - 1 , -1)

and ( - 4 , 4) are vertices of a square . 

Watch Video Solution

(AS2)

7. Figure shows the arrangement of desks in a

classroom. Madhuri, Meena , Pallavi are seated

at A ( 3 , 1) , B ( 6 , 4) and C ( 8 , 6) respectively.

Do you think they are seated in a line ? Give

https://dl.doubtnut.com/l/_4yizVyECWoYL
https://dl.doubtnut.com/l/_ncRTIjb1bF4h


reasons for your .  

Watch Video Solution

(AS2)

8. Find the relation between x and y such that

point ( x , y) is equidistant from the points ( 7 ,

https://dl.doubtnut.com/l/_ncRTIjb1bF4h
https://dl.doubtnut.com/l/_vnMO40A1kGBl


1) and (3 , 5) .

Watch Video Solution

9. Find the coordinates of the point which

divides the line segment join- lng the points (

4 , - 3) and ( 8 , 5) in the ratio 3 : 1 internally .

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_vnMO40A1kGBl
https://dl.doubtnut.com/l/_oPSAiU6npTz0


10. Find the midpoint of the line segment

joining the points ( 3 ,0) and ( - 1 , 4) . 

Watch Video Solution

(AS1)

11. Find the centroid of the triangle whose

vertices are ( 3 , - 5) , ( - 7 , 4) , ( 10 , - 2)

respectively . 

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_HaZ8d8ZSnvy5
https://dl.doubtnut.com/l/_Uqg7WDhsHNSb


12. In what ratio does the point ( - 4 , 6) divide

the line segment joining the points A ( - 6 , 10)

and B ( 3 , - 8) ? 

Watch Video Solution

(AS1)

13. Find the coordinates of the points of

trisection of the line segment joining the

points A( 2 , -2) and B( - 7 , 4) . 

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_yJJZWED3Bz7U
https://dl.doubtnut.com/l/_0SkwhbOAlMp7
https://dl.doubtnut.com/l/_nbHOWwgnM8M7


14. Find the ratio in which the Y - axis divides

the line segment joining the points ( 5 , -6) and

( - 1 , - 4) . Also find the point of intersection

Watch Video Solution

(AS1)

15. Show that the points A(7 , 3) , B (6 , 1) , C ( 8

, 2) and D ( 9 , 4) taken in that order are

vertices of a parallelogram . 

Watch Video Solution

(AS2)

https://dl.doubtnut.com/l/_nbHOWwgnM8M7
https://dl.doubtnut.com/l/_ZcFDKdCluT4m


16. If the points A ( 6 , 1) , B ( 8 , 2) , C ( 9 , 4) and

D ( p, 3) are the vertices of a par -allelogram ,

taken in order , find the value of P.

Watch Video Solution

17. Find the area of a triangle whose vertices

are ( 1 , -1) , ( - 4 , 6) and ( - 3 , -5) . 

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_1nq0gcay3eRS
https://dl.doubtnut.com/l/_yWI0fYpbvx8X


18. Find the area of a triangle formed by the

points A(5 , 2) , B ( 4 , 7) and C ( 7 , -4) . 

Watch Video Solution

(AS1)

19. If A ( - 5 , 7) , B( - 4 , - 5) , C( - 1 , - 6) and D ( 4 ,

5) are the vertices of a quadrilat-eral, then find

the area of a quadri-lateral ABCD .

Watch Video Solution

https://dl.doubtnut.com/l/_a7qZkp57z5Id
https://dl.doubtnut.com/l/_qKQNdrUdItUi


20. The points ( 3 , - 2) , (- 2 , 8) and ( 0 ,4) are

three points in a plane . Show that these

points are collinear . 

Watch Video Solution

(AS2)

21. Find the value of 'b' for which the points

are collinear .  

A ( 1 , 2) , B ( - 1 , b) and C ( - 3 , -4)

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_44dM4pajVjfH
https://dl.doubtnut.com/l/_fiTUQhcW4yab
https://dl.doubtnut.com/l/_HXiqMEHybESq


Do These

22. The end points of a line segment are ( 2 , 3)

, ( 4 , 5) . Find the slope of the line

Watch Video Solution

23. Determine x so that 2 is the slope of the

line through P ( 2 , 5) and Q ( x , 3) . 

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_HXiqMEHybESq
https://dl.doubtnut.com/l/_PJE7oKznknVX
https://dl.doubtnut.com/l/_DbbBDuyy000b


1. From the figure write coordinates of the

point A , B , C , D , E , F , G , H ,  


Watch Video Solution

(AS5)

2. Find the distance covered by the knight in

eanch of its 8 moves i.e., find the distance of A ,

https://dl.doubtnut.com/l/_DbbBDuyy000b
https://dl.doubtnut.com/l/_MCcIFPIntWrr


B , C , D , E , F , G and H from the origin.  


Watch Video Solution

(AS5)

3. What is the distance between two points H

and C ?And find the distance between two

points A and B  
(AS1)

https://dl.doubtnut.com/l/_MCcIFPIntWrr
https://dl.doubtnut.com/l/_jxAEowhmGEcH


Watch Video Solution

4. Where do these following points lie ( - 4 , 0)

, (2 , 0) , ( 6 , 0) , ( - 8,0) on coordi- nate plane ?

Watch Video Solution

(AS3)

5. What is the distance between points ( - 4 , 0)

and ( 6 , 0) on coordinate plane ?

Watch Video Solution

https://dl.doubtnut.com/l/_jxAEowhmGEcH
https://dl.doubtnut.com/l/_l2NzUMjFUNw1
https://dl.doubtnut.com/l/_Fl324pS4t2Rr


6. Find the distance between the following

pairs of points :  

( 3 , 8) , ( 6 , 8)

Watch Video Solution

(AS1)

7. Find the distance between the following

pairs of points :  

( - 4 , - 3) , ( - 8 , - 3) .

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_Fl324pS4t2Rr
https://dl.doubtnut.com/l/_IK375GCyKYT8
https://dl.doubtnut.com/l/_F4ruUlfolxiY


8. Find the distance between the following

pairs of points : 

( 3 , 4 ) , ( 3 , 8) .

Watch Video Solution

9. Find the distance between the following

pairs of points : 

( - 5 , - 8) , ( - 5 , - 12) .

Watch Video Solution

https://dl.doubtnut.com/l/_KbQTFOXa7pvj
https://dl.doubtnut.com/l/_aNQ7KjuZRfjv
https://dl.doubtnut.com/l/_MecMhTLtKRKe


10. Find the distance between the following

points . 

A = ( 2 , 0) and B ( 0 , 4) 

Watch Video Solution

(AS1)

11. Find the distance between the following

points . 

P ( 0 , 5) and Q ( 12 , 0) .

Watch Video Solution

https://dl.doubtnut.com/l/_MecMhTLtKRKe
https://dl.doubtnut.com/l/_8DmMUSLlg3ji
https://dl.doubtnut.com/l/_nYGO4PFaKwzi


12. Find the distance between the following

pair of points . 

(7 , 8) and ( - 2 , 3)

Watch Video Solution

13. Find the distnace between the following

pair of poitns . 

( - 8 , 6) and ( 2 , 0)

Watch Video Solution

https://dl.doubtnut.com/l/_nYGO4PFaKwzi
https://dl.doubtnut.com/l/_A6CbVdyueF8P


14. Find the point which divides the line

segment joining the points ( 3 , 5) and ( 8 , 10)

internallly in the ratio 2 : 3 . 

Watch Video Solution

(AS1)

15. Find the midpoint of the line segment

joining the points ( 2 , 7) and ( 12 , - 7) . 

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_gdcecLVyseur
https://dl.doubtnut.com/l/_MxwnrygYELMM


16. Find the centroid of the triangle whose

vertices are ( - 4 , 6) , ( 2 , - 2) and ( 2 , 5)

respectively . 

Watch Video Solution

(AS1)

17. Find the trisectional points of line joining(

2 , 6) and ( - 4 , 8) . 

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_ooFxHfPxKrSC
https://dl.doubtnut.com/l/_U2BxXQ0WiurT


18. Find the trisectional points of line joining (

- 3 , -5) and ( - 6 , - 8) . 

Watch Video Solution

(AS1)

19. Find the area of the triangle whose vertices

are  

( - 5 , -1), ( 3 , -5) , ( 5 , 2)

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_QAAuPORuDreH
https://dl.doubtnut.com/l/_UkH7MByo199u


20. Find the area of the triangle whose

vertices are 

( 6 , -6) , ( 3 , - 7) and ( 3 , 3) .

Watch Video Solution

21. Verify whether the following points are

collinear or not . 

( 1 , - 1) , ( 4 , 1) , ( - 2 , -3) . 

Watch Video Solution

(AS2)

https://dl.doubtnut.com/l/_Bs0KhPmgGVGC
https://dl.doubtnut.com/l/_gQOz5EAtAKv9
https://dl.doubtnut.com/l/_mWYg22DlAqxt


22. Verify whether the following points are

collinear or not . 

( 1 , -1) , ( 2 , 3) , ( 2 , 0)

Watch Video Solution

23. Verify whether the following points are

collinear or not . 

( 1 , -6) , ( 3 , -4) , ( 4 , - 3) .

Watch Video Solution

https://dl.doubtnut.com/l/_mWYg22DlAqxt
https://dl.doubtnut.com/l/_6jcYo1fvcaXe
https://dl.doubtnut.com/l/_kWMJBho9BJTR


24. Find the area of the triangle whose lengths

of sides are 15 m , 17 m , 21 m ( use Heron 's

Formula ) 

Watch Video Solution

(AS1, AS2)

25. Find the area of the triangle formed by the

points ( 0 , 0) , ( 4 , 0) ,( 4 , 3) by unsing Heron's

formula . 

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_kWMJBho9BJTR
https://dl.doubtnut.com/l/_KoMFj3O0gt2Q


26. Plot these points on the coordinate axis

and join them  

which gives a straight line ? Which in not why

? 

A ( 1 , 2) , B ( - 3 , 4) , C ( 7 , -1)

Watch Video Solution

(AS3)

27. Plot these points on the coordinate axis

and join them  

which gives a straight line ? Which in not why

(AS3)

https://dl.doubtnut.com/l/_3sJwbBfKA4HE
https://dl.doubtnut.com/l/_E3pjNvNxULjK


? 

P( 3 , - 5) , Q ( 5 , -1) R( 2 , 1) , S ( 1 , 2)

Watch Video Solution

28. Find the slope of  with the given end

points 

A ( 4 , - 6) , B ( 7 , 2)

Watch Video Solution

 ⇐⇒
AB

https://dl.doubtnut.com/l/_E3pjNvNxULjK
https://dl.doubtnut.com/l/_eDMYq7G6DLxk


29. Find the slope of  with the given end

points 

A (8 , - 4) , B ( - 4 , 8)

Watch Video Solution

 ⇐⇒
AB

30. Find the slope of  with the given end

points 

A ( - 2 , - 5) , B ( 1 , - 7)

Watch Video Solution

 ⇐⇒
AB

https://dl.doubtnut.com/l/_8Z53XuJTQUWo
https://dl.doubtnut.com/l/_jS6GwcLXxjgy


Try These

1. Where so these following points lie- ( 0 , - 3) ,

(0 , -8) , ( 0 , 6) , (0 , 4) on coordi- nate plane ?

Watch Video Solution

(AS3)

2. What is the distance between ( 0 , -3) , ( 0 , -

8) and justify that the distance between two

points on Y - axis is  on coordinate

plane ? 

|y2 − y2|

(AS1, AS3)

https://dl.doubtnut.com/l/_OzxtesyQkDZq
https://dl.doubtnut.com/l/_voMQHd9vMRUN


Watch Video Solution

3. Find the distance between points 'O' ( origin

) and 'A' (7 , 4) . 

Watch Video Solution

(AS1)

4. Find the distance between A(1 , - 3) and B( -

4 , 4 ) and rounded to two decimals . 

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_voMQHd9vMRUN
https://dl.doubtnut.com/l/_XS79PDY4Bt8v
https://dl.doubtnut.com/l/_FsNRibMrFwkc
https://dl.doubtnut.com/l/_3eyI22rQgzF7


5. Let A ( 4 , 2) , B ( 6 , 5) and C ( 1 , 4) be the

vertices of  

The median from A meet BC at D . Find the

coordinates of the poin D .  

Watch Video Solution

ΔABC

(AS1)

https://dl.doubtnut.com/l/_3eyI22rQgzF7


6. Let A(4,2) , B(6,5) and C(1,4) be the vertices of

the . The median from A meets BC at

D. Find the coordinates of the point D. Find the

coordinates of the point P on AD such that AP

: PD = 2 : 1 .

Watch Video Solution

△ ABC

7. Let A(4,2) , B(6,5) and C(1,4) be the vertices of

the △ABC. The median from A meets BC at D.

Find the points which divide the line segment

https://dl.doubtnut.com/l/_3eyI22rQgzF7
https://dl.doubtnut.com/l/_bNGzNOYPtuvb
https://dl.doubtnut.com/l/_fHT8pGcPWlCt


BE in the ratio 2 : 1 and also that divide the

line segment CF in the ratio 2 : 1 .

Watch Video Solution

8. What do you observe ? Justify the point that

divides each median in the ratio 2 : 1 is the

centriod of a traingle . 

Watch Video Solution

(AS3)

https://dl.doubtnut.com/l/_fHT8pGcPWlCt
https://dl.doubtnut.com/l/_EZMPIvaIoSaJ


9. The points ( 2 , 3) ( x , y ) ( 3 , -2) are the

vertices of a triangle . If the centroid of this

triangle is origin then find ( x , y)

Watch Video Solution

10. Take a point A on X -axis and B on Y - axis

and find area of the triangle AOB . Discuss with

your friends what did they do 

Watch Video Solution

(AS3)

https://dl.doubtnut.com/l/_bXuzA5lCu159
https://dl.doubtnut.com/l/_TCN3tjKW45bh
https://dl.doubtnut.com/l/_ySN608mvNm4q


11. Find the area of the square formed by ( 0 ,

-1) , ( 2, 1) ,( 0 , 3) and ( - 2, 1) taken in order are

as vertices .

Watch Video Solution

12. Find the slope of  with the points

lying on  

A ( 2 , 1) , B ( 2 , 6)

Watch Video Solution

 ⇐⇒
AB

(AS1)

https://dl.doubtnut.com/l/_ySN608mvNm4q
https://dl.doubtnut.com/l/_GzuzesgCqyB3
https://dl.doubtnut.com/l/_GXF2gQflyYIS


13. Find the slope of  with the points

lying on  

A( - 4 , 2) , B ( - 4 , - 2) `

Watch Video Solution

 ⇐⇒
AB

(AS1)

14. Find the slope of  with the points

lying on  

A ( - 2 , 8) , B ( - 2 , - 2)

Watch Video Solution

 ⇐⇒
AB

(AS1)

https://dl.doubtnut.com/l/_GXF2gQflyYIS
https://dl.doubtnut.com/l/_PYYQdpSU27KG


Think Discuss

15. Find the slope  with the points lying

on A ( 3 , 2) , (B ( - 8 , 2) . When the line 

parallel to X - axis ? Why ? Think and discuss

with your friends in groups . 

Watch Video Solution

 ⇐⇒
AB

 ⇐⇒
AB

(AS2, AS3)

1. How will you find the distance between two

points in which x or y co-ordinates are same

https://dl.doubtnut.com/l/_Tb59e1b1Scm9
https://dl.doubtnut.com/l/_N0QiZnsPx7xD


but not zero ? 

Watch Video Solution

(AS2)

2. Ramu says the distance of a point P(x.y)

from the origin O(0,0) is  . Do you

agree with Ramu or not ? Why ? 

Watch Video Solution

√x2 + y2

(AS2, AS3)

3. Ramu also writes the distance formula as 

 why ?AB = √(x1 − x2)2 + (y1 − y2)2 ⋅

https://dl.doubtnut.com/l/_N0QiZnsPx7xD
https://dl.doubtnut.com/l/_OmwLPXUqrRPW
https://dl.doubtnut.com/l/_qI9fymgabAB5


Watch Video Solution

4. Sridhar calculated the distance between T (

5 , 2) and ( R ( - 4 , - 1) to the nearest tenth is 9 .

5 units . Now you find the distance between P (

4 , 1) and Q ( - 5 , - 2) . Do you get the same

answer that Sridhar got ? Why ? 

Watch Video Solution

(AS2, AS3)

https://dl.doubtnut.com/l/_qI9fymgabAB5
https://dl.doubtnut.com/l/_6ZIrHqfF6HXS


5. The line joining points A ( 6 , 9) and B ( - 6 , -

9) are given . 

In which ratio does origin divide  ? And

what it is called for  ? 

Watch Video Solution

¯̄̄ ¯̄¯AB

¯̄̄ ¯̄¯AB (AS1)

6. The line joining points A (6 , 9) and B ( - 6 , -

9) are given . 

In which ratio does the point P( 2 , 3) divide

 ?¯̄̄ ¯̄¯AB

https://dl.doubtnut.com/l/_Z73XxpRMsZLt
https://dl.doubtnut.com/l/_1pHRpvLIlv3z


Watch Video Solution

7. The line joining points A (6 , 9) and B ( - 6 , -

9) are given . 

In which ratio does the point Q ( - 2 , - 3) divide

 ?

Watch Video Solution

¯̄̄ ¯̄¯AB

8. The iine joining points A ( 6 , 9) and B ( - 6, -

9) are givne 

https://dl.doubtnut.com/l/_1pHRpvLIlv3z
https://dl.doubtnut.com/l/_4ZUT2fCgh4RL
https://dl.doubtnut.com/l/_pfL5FOjgtGqD


Into how many parts is  divided by P and Q

?

Watch Video Solution

¯̄̄ ¯̄¯AB

9. The line joining points A ( 6 , 9) and B ( - 6 , -

9) are given 

What do we cell P and Q for  ?

Watch Video Solution

¯̄̄ ¯̄¯AB

https://dl.doubtnut.com/l/_pfL5FOjgtGqD
https://dl.doubtnut.com/l/_J6Gm9iiPVlJP


10. If  then the

circumradius of  is

Watch Video Solution

A(x1, y1), B(x2, y2)

ΔOAB

11. Let A  . Then

find the area of the following triangles in a

plane . And discuss with your friends in groups

(x1, y1), B(x2, y2), C(x3, y3)

https://dl.doubtnut.com/l/_3fnNwXfvVna5
https://dl.doubtnut.com/l/_kSSoxuKId4zl


about the area of that triangle 

Watch Video Solution

12. Let A  . Then

find the area of the following triangles in a

(x1, y1), B(x2, y2), C(x3, y3)

https://dl.doubtnut.com/l/_kSSoxuKId4zl
https://dl.doubtnut.com/l/_72jOiHcUnkEm


plane . And discuss with your friends in groups

about the area of that triangle 

Watch Video Solution

https://dl.doubtnut.com/l/_72jOiHcUnkEm


13. Let A  . Then

find the area of the following triangles in a

plane . And discuss with your friends in groups

about the area of that triangle 

Watch Video Solution

(x1, y1), B(x2, y2), C(x3, y3)

14. Find the area of the triangle formed by the

following points 

( 2 , 0) , ( 1 , 2) , ( 1 , 6)

https://dl.doubtnut.com/l/_43MZXRM08egY
https://dl.doubtnut.com/l/_PjvQYH2opTdB


Watch Video Solution

15. Find the area of the triangle formed by the

following points 

( 3 , 1) , ( 5 , 0) , ( 1 , 2)

Watch Video Solution

16. Find the area of the triangle formed by the

following points 

( - 1.5 , 3) , ( 6 , -2) , ( -3 , 4)

Watch Video Solution

https://dl.doubtnut.com/l/_PjvQYH2opTdB
https://dl.doubtnut.com/l/_PHzqfy3Ksa2m
https://dl.doubtnut.com/l/_qcoYVNXpBT9A


17. What do you observe ? Justify the point

that divides each median in the ratio 2 : 1 is

the centriod of a traingle . 

Watch Video Solution

(AS3)

18. Plot these points on three different graphs

. What do you observe ? 

View Text Solution

(AS5)

https://dl.doubtnut.com/l/_qcoYVNXpBT9A
https://dl.doubtnut.com/l/_CPSge0qukX5u
https://dl.doubtnut.com/l/_JrEvGlLMpdic
https://dl.doubtnut.com/l/_9qi4zPxG0HiX


19. Can we have a triangle having area zero

square units area ? 

Watch Video Solution

(AS2, AS3)

20. What does it mean ?

View Text Solution

21. Does y = x + 7 represent a straight line ?

Draw the line on the coordinate plane . At

https://dl.doubtnut.com/l/_9qi4zPxG0HiX
https://dl.doubtnut.com/l/_WsAQCxl2y5fQ
https://dl.doubtnut.com/l/_Oo50EI3gzo93


which point does this line intersect Y-axis ? 

How much angle does it make with X - axis ?

Discuss with your friends . 

Watch Video Solution

(AS3, AS5)

22. Find the slope  with the points lying

on A ( 3 , 2) , (B ( - 8 , 2) . When the line 

parallel to X - axis ? Why ? Think and discuss

with your friends in groups . 

Watch Video Solution

 ⇐⇒
AB

 ⇐⇒
AB

(AS2, AS3)

https://dl.doubtnut.com/l/_Oo50EI3gzo93
https://dl.doubtnut.com/l/_AsYuTJbUC9AT


Exercise 7 1

1. Find the distance between the following pair

of points . 

( 2 , 3) and ( 4 , 1) 

Watch Video Solution

2. Find the distance between the following

pair of points. 

( - 5 , 7) and ( - 1 , 3)

Watch Video Solution

https://dl.doubtnut.com/l/_bDYhgEBxOaNv
https://dl.doubtnut.com/l/_pB15SW9FgG4D


3. Find the distance between the following

pair of points . 

( - 2 , -3) and ( 3 , 2)

Watch Video Solution

4. Find the distance between the following

pair of points . 

( a , b) and ( - a , - b)

Watch Video Solution

https://dl.doubtnut.com/l/_pB15SW9FgG4D
https://dl.doubtnut.com/l/_k5WGssVzpMB6
https://dl.doubtnut.com/l/_stMeK8PlHIHc


5. Find the distance between the points ( 0, 0)

and ( 36, 15) . 

Watch Video Solution

(AS1)

6. Verify that the points ( 1 , 5) , (2 , 3) and ( - 2 ,

-1) are collinear or not . 

Watch Video Solution

(AS2)

https://dl.doubtnut.com/l/_stMeK8PlHIHc
https://dl.doubtnut.com/l/_SqjmuUXcZpeh
https://dl.doubtnut.com/l/_qCnufJrxZUOQ


7. Check whether ( 5 , -2) , ( 6 , 4) and ( 7 , -2) are

the vertices of an isosceles traingle .

Watch Video Solution

8. In a classroom, 4 friends are seated at the

points A,B,C and D as shown in figure. Jarina

and Phani walk into the class and after

observing for a few minutes Jarina asks Phani

"Don't you think ABCD is a square?" Phani

disagrees. Using distance formula. Find which

https://dl.doubtnut.com/l/_qCnufJrxZUOQ
https://dl.doubtnut.com/l/_HnzogWIm900W
https://dl.doubtnut.com/l/_QmuCLE1NWdub


of them is correct. Why? 

Watch Video Solution

9. Show that the following points form an

equilateral triangle A( a , 0) , 

 

B ( -a,0) ,  .

Watch Video Solution

(AS2)

C(0, a√3)

https://dl.doubtnut.com/l/_QmuCLE1NWdub
https://dl.doubtnut.com/l/_maSwo1BVdkSE


10. Prove that the points ( - 7 , - 3) , ( 5 , 10) , ( 15

, 8) and ( 3 , - 5) taken in order are the corners

of a parallelogram . 

Watch Video Solution

(AS2)

11. Show that the points ( - 4 , -7) , ( - 1 , 2) , ( 8 ,

5) and ( 5 , -4) taken in order are the vertices of

a rhombus. And find its area. 

https://dl.doubtnut.com/l/_103A46DJzI6z
https://dl.doubtnut.com/l/_oqhmjZLYvrZd


(Hint : Area of rhombus  pro-duct of

its diagonals ) 

Watch Video Solution

= ×
1

2

(AS2, AS4)

12. Name the type to quadrilateral formed, if

any , by the following points, and give reasons

for your answer.  

( - 1 , -2) , ( 1 , 0) , ( - 1, 2) , ( - 3 , 0)

Watch Video Solution

(AS2)

https://dl.doubtnut.com/l/_oqhmjZLYvrZd
https://dl.doubtnut.com/l/_uEX7wmbm2MnF


13. Name the type to quadrilateral formed, if

any , by the following points, and give reasons

for your answer.  

( - 3 , 5), ( 1 , 10) , ( 3 , 1) , ( - 1, -4) .

Watch Video Solution

(AS2)

14. Name the type of quadrilateral formed, if

any, by the points, and give reasons for your

answer. 

(4, 5), (7, 6), (4, 3), (1, 2)

https://dl.doubtnut.com/l/_o7HoahJPi0nU
https://dl.doubtnut.com/l/_X2LQJpNv3DvI


Watch Video Solution

15. Find the point on the X - axis which is

equidistant from ( 2 , -5) and ( - 2 , 9). 

Watch Video Solution

(AS1)

16. If the distance between two points ( x , 7)

and ( 1 , 15) is 10, find the value of x . 

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_X2LQJpNv3DvI
https://dl.doubtnut.com/l/_GRWIrjiNv4Kw
https://dl.doubtnut.com/l/_zv73QoPitrBG
https://dl.doubtnut.com/l/_Z0X6dbxVxm1K


17. Find the value of y for which the distance

between the points P( 2 , -3) and Q ( 10, y) is 10

units. 

Watch Video Solution

(AS1)

18. Find the radius of the circle whose centre is

( 3 , 2) and passes through ( - 5 , 6) . 

Watch Video Solution

(AS4)

https://dl.doubtnut.com/l/_Z0X6dbxVxm1K
https://dl.doubtnut.com/l/_SAf1UEHvypv6


Exercise 7 2

19. Can you draw a triangle with vertices ( 1 , 5)

, ( 5 , 8) and ( 13 , 14) ? Give reason . 

Watch Video Solution

(AS2)

20. Find a relation between x and y such that

the point ( x , y) is equi-distant from the points

( - 2 , 8) and ( - 3 , - 5) . 

Watch Video Solution

(AS3)

https://dl.doubtnut.com/l/_bclU33rUCk6q
https://dl.doubtnut.com/l/_FSDukJEOhOD8


1. Find the coordinates of the point which

divides the line segment join-ing the points ( -

1 , 7) and ( 4 , - 3) in the ratio 2 : 3 

Watch Video Solution

(AS1)

2. Find the coordinates of the points of

trisection of the line segment joining  

( 4 , -1) and ( - 2 , -3) .

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_6b8NdNIjPWSQ
https://dl.doubtnut.com/l/_5J8Nuh32VsqV


3. Find the ratio in which the line segment

joining the point ( - 3 , 10) and ( 6 , -8) is

divided by ( - 1 , 6). 

Watch Video Solution

(AS1)

4. If ( 1 , 2) , ( 4 , y) , ( x , 6) and ( 3 , 5) are the

vertices of a parallelogram taken in order, find

x and y . 

Watch Video Solution

(AS4)

https://dl.doubtnut.com/l/_wSKEYJApkXjl
https://dl.doubtnut.com/l/_RZuWuEXAUo5A
https://dl.doubtnut.com/l/_PubzKQb50vVd


5. Find the coordinates of a point A , where AB

is the diameter of a circle whose centre is ( 2 , -

3) and B is ( 1 , 4) . 

Watch Video Solution

(AS4)

6. If A and B are ( - 2 , - 2) and ( 2 , - 4)

respectively . Find the coordinates of P such

that AP  AB and P lies on the segment AB

. 

Watch Video Solution

=
3

7

(AS1)

https://dl.doubtnut.com/l/_PubzKQb50vVd
https://dl.doubtnut.com/l/_XLskn2PbE6fD


7. Find the coordinates of points which divide

the line segment joining A ( - 4 , 0) and B(0 , 6)

into four equal parts . 

Watch Video Solution

(AS1)

8. Find the coordinates of the points which

divides the line segment joining A( - 2 , 2) and

B ( 2 , 8) into four equal parts 

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_zb0BDZ3X1STF
https://dl.doubtnut.com/l/_MLshrlBxpa6y
https://dl.doubtnut.com/l/_JhdQUQvh75OP


9. Find the coordinates of the point which

divide the line segment joining the points ( a +

b , a - b) and ( a - b , a + b) in the ratio 3 : 2

internally. 

Watch Video Solution

(AS1)

10. Find the coordinates of centroid of the

triangle with following vertices :  

(-1 , 3) , ( 6 , -3) and ( - 3 , 6)

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_JhdQUQvh75OP
https://dl.doubtnut.com/l/_oE0HTOXv0MpS


11. Find the coordinates of centroid of the

triangle with following vertices :  

( 6 , 2) , ( 0 , 0) and ( 4 , -7)

Watch Video Solution

(AS1)

12. Find the coordinates of centroid of the

triangle with following vertices :  

( 1 , -1) , ( 0 , 6) and ( - 3 , 0)

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_GP306ppeabsS
https://dl.doubtnut.com/l/_Rzu4zAoGhh8L


Exercise 7 3

1. Find the area of the triangle whose vertices

are  

(2 , 3) ,(-1 , 0), ( 2 , -4 )

Watch Video Solution

(AS1)

2. Find the area of the triangle whose vertices

are  

( - 5 , -1), ( 3 , -5) , ( 5 , 2)

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_RnMXMyFhtoRr
https://dl.doubtnut.com/l/_n4FIhqO7F0vS


3. Find the area of the triangle whose vertices

are  

(0 , 0) , (3 , 0) , (0 , 2)

Watch Video Solution

(AS1)

4. Find the valueof 'K' for which the points are

collinear.  

(7 , -2) , (5 , 1), (3 , K)

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_n4FIhqO7F0vS
https://dl.doubtnut.com/l/_cq05BSL9dQDn
https://dl.doubtnut.com/l/_yXsVSOYTswBM


5. Find the value of 'K' for which the points are

collinear .  

( 8 , 1) , (K , -4), ( 2 , - 5)

Watch Video Solution

(AS1)

6. Find the value of 'K' for which the points are

collinear .  

(K , K) ,( 2 , 3) and ( 4 , -1)

Watch Video Solution

(AS1)

https://dl.doubtnut.com/l/_yXsVSOYTswBM
https://dl.doubtnut.com/l/_2vUfkmekR0K3
https://dl.doubtnut.com/l/_1TijhJ5pHW8c


7. Find the area of the triangle formed by

joining the mid-points of the sides of the

triangle whose vertices are ( 0 , - 1) , ( 2 , 1) and

( 0 , 3) . Find the ratio of this area to the area

of the given triangle . 

Watch Video Solution

(AS1)

8. Find the area of the quadrilateral whose

vertices taken inorder are ( - 4 , - 2) , ( - 3 , - 5) , (

3 , - 2) and ( 2 , 3) (AS1)

https://dl.doubtnut.com/l/_1TijhJ5pHW8c
https://dl.doubtnut.com/l/_cfpYShOcdLGN
https://dl.doubtnut.com/l/_lkBtv68mxtwx


Watch Video Solution

9. Find the area of the triangle formed by the

points by using Heron's for -mula . 

( 1 , 1) , ( 1 , 4) and ( 5 , 1)

Watch Video Solution

10. Find the area of the triangle formed by the

points by using Heron's for -mula . 

( 2 , 3) , ( -1 , 3) and ( 2 , - 1)

https://dl.doubtnut.com/l/_lkBtv68mxtwx
https://dl.doubtnut.com/l/_FOnaecdnyjUq
https://dl.doubtnut.com/l/_23tyoT9I93Im


Exercise 7 4

Watch Video Solution

1. Find the slope of the line joining the two

given points  

( 4 , -8) and ( 5 , - 2)

Watch Video Solution

(AS1)

2. Find the slope of the line joining the two

given points  (AS1)

https://dl.doubtnut.com/l/_23tyoT9I93Im
https://dl.doubtnut.com/l/_qqn2UNCfkPgL
https://dl.doubtnut.com/l/_urffjZW9qiW9


( 0 , 0) and .

Watch Video Solution

(√3, 3)

3. Find the slope of the line joining the two

given points  

( 2a , 3b) and ( a , - b) .

Watch Video Solution

(AS1)

4. Find the slope of the line joining the two

given points  (AS1)

https://dl.doubtnut.com/l/_urffjZW9qiW9
https://dl.doubtnut.com/l/_STV3wtTxKR8x
https://dl.doubtnut.com/l/_kJsHTrgTmLra


(a , 0) and ( 0 , b) .

Watch Video Solution

5. Find the slope of the line joining the two

given points  

A( - 1.4 , - 3 . 7) , B ( - 2 . 4 , 1 . 3) .

Watch Video Solution

(AS1)

6. Find the slope of the line joining the two

given points  (AS1)

https://dl.doubtnut.com/l/_kJsHTrgTmLra
https://dl.doubtnut.com/l/_CkkRvBuL2jiv
https://dl.doubtnut.com/l/_32LQcO9w0Zee


A (2 , - 2) , B ( - 6 , - 2) .

Watch Video Solution

7. Find the slope of the line joining the two

given points  

.

Watch Video Solution

(AS1)

A( − 3 , 3), B( − 7, 2 )
1

2

1

2

8. Find the slope of the line joining the two

given points  (AS1)

https://dl.doubtnut.com/l/_32LQcO9w0Zee
https://dl.doubtnut.com/l/_JW5NOTxcVPW3
https://dl.doubtnut.com/l/_qkzPVLWYITe0


Optional Exercise

A(0 , 4) , B ( 4 , 0)

Watch Video Solution

1. Centre of a circle Q is on the Y-axis. The circle

passes through the points (0, 7) and (0, -1). If it

intersects the positive X-axis at (P, 0), what is

the value of ‘P’?

Watch Video Solution

https://dl.doubtnut.com/l/_qkzPVLWYITe0
https://dl.doubtnut.com/l/_SV6LVGHxtmx3
https://dl.doubtnut.com/l/_l2VGrCsjeNox


2. The triangle  is formed by the

points A(2,3),B(-2,-3),C(4,-3). What is the point

of intersection of side BC and angular bisector

of A?

Watch Video Solution

△ ABC

3. The side BC of an equilateral  is

parallel to X - axis . Find the slopes of line

along sides BC , CA and AB .

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_l2VGrCsjeNox
https://dl.doubtnut.com/l/_dK8vnsuzeoSI


4. A right triangle has sides 'a' and 'b' where

a>b . If the right angle is bisected then find the

distance between orthocentres of the smaller

triangles using coordinate geometry.

Watch Video Solution

5. Find the centroid of the triangle formed by

the line 2 x + 3 y - 6 = 0 with the coordinate

axes .

Watch Video Solution

https://dl.doubtnut.com/l/_dK8vnsuzeoSI
https://dl.doubtnut.com/l/_waXRFd7f98pE
https://dl.doubtnut.com/l/_xPwVPV27aebG


Observation Material 1 Marks Questions

1. What do you mean by centroid of a triangle

?

Watch Video Solution

2. Find the co-ordinates of the point, which

divides the line segment join-ing ( 2 , 0) and ( 0

, 2) in the ratio 1 : 1 .

https://dl.doubtnut.com/l/_xPwVPV27aebG
https://dl.doubtnut.com/l/_NMaEm4G4UzTD
https://dl.doubtnut.com/l/_jabZ4eX7dKAa


Watch Video Solution

3. The distance between two points A ( cos  0

) , B ( 0 , a sin ) is ....

Watch Video Solution

θ

θ

4. If A ( 4 , 0) , B (0 , y) and AB = 5 , find the

possible values of y .

Watch Video Solution

https://dl.doubtnut.com/l/_jabZ4eX7dKAa
https://dl.doubtnut.com/l/_1GqyAi5rCVp5
https://dl.doubtnut.com/l/_h3OABGjPrt7i
https://dl.doubtnut.com/l/_FN7DY6ihMp02


5. Find the centroid triangle whose ver-tices

are ( 3 , 4) ( - 7 , - 2) and ( 10 , - 5) .

Watch Video Solution

6. Find the distance between the points ( 0 , 0)

and ( a , b) .

Watch Video Solution

7. Find the mid point of the line segment

formed by the points ( - 5 , 5) and ( 5 , - 5) .

https://dl.doubtnut.com/l/_FN7DY6ihMp02
https://dl.doubtnut.com/l/_uPuTNPMVFiUi
https://dl.doubtnut.com/l/_SGe143WKyB4Q


Watch Video Solution

8. If the slope of the line passing through the

two points( 2 , 5) and ( 5 , 8) is repre-sented by

tan  , (where  ) in

trigonometry, then find angle  .

Watch Video Solution

θ 0∘ < θ < 90∘

θ

9. A ( 0 , 3) , B ( k , 0) and AB = 5 . Find the

positive value of k .

https://dl.doubtnut.com/l/_SGe143WKyB4Q
https://dl.doubtnut.com/l/_2i8du4r8eal6
https://dl.doubtnut.com/l/_J5dPzwZDx4dN


Observation Material 2 Marks Questions

Watch Video Solution

10. Find the distance between the points ( 1 , 5)

and ( 5 , 8) .

Watch Video Solution

1. Where do the points ( 0 , - 3) and ( - 8 , 0) lie

on co-ordinate axis ?

https://dl.doubtnut.com/l/_J5dPzwZDx4dN
https://dl.doubtnut.com/l/_taURt8iC2AHS
https://dl.doubtnut.com/l/_2e4uYtwpsvDU


Watch Video Solution

2. Find the relation between x and y such that

point ( x , y) is equidistant from the points ( 7 ,

1) and (3 , 5) .

Watch Video Solution

3. Find the value of k, for which the points ( 7 ,

2) , ( 5 , 1) and ( 3 , k) are collinear.

Watch Video Solution

https://dl.doubtnut.com/l/_2e4uYtwpsvDU
https://dl.doubtnut.com/l/_66AeqbbSr5g9
https://dl.doubtnut.com/l/_vidUx5d0sIYS


4. Find the centroid of the triangle , whose

vertices are ( - 4 , 4) , ( - 2 , 2) and ( 6 , - 6) .

Watch Video Solution

5. Show that the points A = ( 4 , 2) , B ( 7 , 5)

and C ( 9 , 7) are collinear.

Watch Video Solution

https://dl.doubtnut.com/l/_d3czNT1yNow0
https://dl.doubtnut.com/l/_M8UUtIL334KW


6. A ( 3 , 6) , B ( 3 , 2) and C ( 8 , 2) are the

vertices of a rectangle ABCD . Plot these points

on a graph paper . From this find the

coordinates of vertex D , so that ABCD will be a

rectangle .

Watch Video Solution

7. Show that the points A ( - 3 , 3) , B ( 0 , 0) , c (

3 , - 3) are collinear .

Watch Video Solution

https://dl.doubtnut.com/l/_p5ZCLO9B8Ihr
https://dl.doubtnut.com/l/_kHKukZ7Y0KQe


8. If the distance between the two points ( 8 ,

x) and ( x , 8) is  units, then find the value

of 'x'.

Watch Video Solution

2√2

9. Two vertices of a triangle are ( 3 , 2) , ( - 2 , 1)

and its centroid is  . Find the third

vertex of the triangle .

Watch Video Solution

( , − )
5

3

1

3

https://dl.doubtnut.com/l/_kHKukZ7Y0KQe
https://dl.doubtnut.com/l/_Eh2cG5BfCsyc
https://dl.doubtnut.com/l/_lkLcnwBaTv8O


10. Find the angle made by the line join-ing ( 5

, 3) and ( - 1, - 3) with the posi-tive direction of

X - axis .

Watch Video Solution

11. Determine 'x', if the slope of the line join-ing

the two points ( 4 , x) , ( 7 , 2) is 

Watch Video Solution

⋅
8

3

https://dl.doubtnut.com/l/_eouvpii8ujNe
https://dl.doubtnut.com/l/_YM7XheEp53PW


12. In the diagram on a Lunar eclipse, if the

positions of Sun, Earth and Moon are shown

by ( - 4 , 6) , ( k , - 2) and ( 5 , - 6) respectively,

then find the value of k .

Watch Video Solution

13. If the distance between two points ( x , 1)

and ( - 1 , 5) is '5' , find the value of 'x'.

Watch Video Solution

https://dl.doubtnut.com/l/_hIlzDvuFPnRL
https://dl.doubtnut.com/l/_7smUU7r1tWpe


Observation Material 4 Marks Questions

1. Check whether the points (3 , 0) , (6 , 4) and (

- 1 , 3) are the vertices of a right -angled

isosceles triangle or not. Also find the area of

the triangle .

Watch Video Solution

2. Find the area of the triangle formed by the

points (2 , 3) ,(- 1 , 3) and ( 2 , - 1) using Heron's

formula.

https://dl.doubtnut.com/l/_vcMZIt8TfjxD
https://dl.doubtnut.com/l/_BFPPcBMd4B85


Watch Video Solution

3. Name the type of the quadrilateral formed

by joining the points A(- 1 , - 2) B ( 1 , 0) , C( - 1 ,

2) and D( - 3 , 0) are graph paper , justify your

answer .

Watch Video Solution

4. If A ( - 5 , 7) , B( - 4 , - 5) , C( - 1 , - 6) and D ( 4 ,

5) are the vertices of a quadrilat-eral, then find

https://dl.doubtnut.com/l/_BFPPcBMd4B85
https://dl.doubtnut.com/l/_QhDgDxkonst1
https://dl.doubtnut.com/l/_kOlznvD9G9su


the area of a quadri-lateral ABCD .

Watch Video Solution

5. Find the trisection points of the line

segment joined by the points ( - 3 , 3) and (3 , -

3).

Watch Video Solution

6. If the points P(-3,9) ,Q(a , b) and R(4 , - 5) are

collinear and a + b=1, then find the values of a

https://dl.doubtnut.com/l/_kOlznvD9G9su
https://dl.doubtnut.com/l/_4HQ2OaVD8wXS
https://dl.doubtnut.com/l/_yCfCkSuiLwO8


and b.

Watch Video Solution

7. The points C and D are on the line segment

joining A( - 4 , 7) and B( 5 , 13) such that AC =

CD = DB. Then find coor-dinates of points C

and D .

Watch Video Solution

https://dl.doubtnut.com/l/_yCfCkSuiLwO8
https://dl.doubtnut.com/l/_mqYWCfjTNMKS


Cce Model Examination

8. The area of the triangle is 18 sq.units, whose

vertices are (3 , 4) , (- 3 , -2) and (p , -1), then

find the value of 'p' .

Watch Video Solution

9. Find the points of tri-section of the line

segment joining the points (-2,1) and (7,4).

Watch Video Solution

https://dl.doubtnut.com/l/_s0DgnrYvG8vB
https://dl.doubtnut.com/l/_mLRcO9b0dega


Cce Model Examination

1. Find the distance between the points ( 5 , 7)

and ( 7 , 5) .

Watch Video Solution

1. Find the distance between the points (5 , 7)

and (7 , 5) by plotting them in co-ordinate

plane with the help of a right angled triangle .

https://dl.doubtnut.com/l/_cIDrp7bL6tAa
https://dl.doubtnut.com/l/_h71qV9pUYnNr


Watch Video Solution

2. Are the points (5 , 7) and (7 , 5) equal ?

Watch Video Solution

3. Find the point on X-axis which is equi

distant from the points ( 5 , 7) and (7 , 5) .

Watch Video Solution

https://dl.doubtnut.com/l/_h71qV9pUYnNr
https://dl.doubtnut.com/l/_8G8ZQWxYsfKV
https://dl.doubtnut.com/l/_9F8fNDnZDrcm


4. The X-coordinate of the point of

intersection of the two ogives of grouped data

is………

A. Mean

B. Median

C. Range

D. Mode

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_9dZ8lHjRlw68


5. Centroid of triangle , whose vertices are ( - a

, 0) , (0 , b) and (a , 0) is ........

A. (a , b)

B. 

C. 

D. 

Answer: C

Watch Video Solution

( , 0)
a

3

(0, )
b

3

( , )
a

3
b

3

https://dl.doubtnut.com/l/_Fd3PguZk0GSD
https://dl.doubtnut.com/l/_zaxs8nbQQJHj


6. The formula to find the area of a tri-angle is

....

A.  bh

B. 

C. 

D. A and C

Answer: D

Watch Video Solution

Δ =
1

2

Δ = √(s − a)(s − b)(s − c)

Δ = √s(s − a)(s − b)(s − c)

https://dl.doubtnut.com/l/_zaxs8nbQQJHj


7. In the given figure, area of  is ....... 

A. 12 sq. u.

B. 6 sq. u.

ΔOAB

https://dl.doubtnut.com/l/_opG6nriDnoG3


C. 24 sq. u.

D. 18 sq. u.

Answer: B

Watch Video Solution

8. Slope of the line that passes through the

points  and  and making

an angle  with X-axis is

A. 

P (x1, y1) Q(X2, y2)

θ

y2 + y1

x2 + x1

https://dl.doubtnut.com/l/_opG6nriDnoG3
https://dl.doubtnut.com/l/_P4XD0tk3zjNz


B. 

C. 

D. sin 

Answer: C

Watch Video Solution

θ

y2 − y1

x2 − x1

θ

9. In a coordinate plane ,if line segment AB is

parallel to X-axis, then which of the following

is correct ?

https://dl.doubtnut.com/l/_P4XD0tk3zjNz
https://dl.doubtnut.com/l/_tqopQNTmHsn6


A. x coordinates of points A and B are

equal.

B. y coordinates of points A and B are

equal .

C. x coordinate of point A and y coordinate

of point B are equal .

D. y coordinate of point A and x coor-dinate

of point B are equal.

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_tqopQNTmHsn6


10. The area of a triangle whose vertices

(points) are ( 0 , 0) , ( 3 , 0) and ( 0 , 4) is .....

A. 3 sq. units

B. 4 sq. units

C. 6 sq. units

D. 5 sq. units

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_tqopQNTmHsn6
https://dl.doubtnut.com/l/_dDgKcrWKVMQO


11. Slope of the line passing through the

points ( - 1 , 1) and ( 1 , 1) is ......

A. 

B. 0

C. 1

D. not defined

Answer: B

Watch Video Solution

−1

https://dl.doubtnut.com/l/_PlLtt0bLLClk
https://dl.doubtnut.com/l/_8CbkghEEvtBt


12. If the co-ordinates of the vertices of a

rectangle are (0 , 0) , ( 4 , 0) , (4 , 3) and ( 0, 3) ,

then the length of its diagonal

A. 4

B. 5

C. 7

D. 3

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_8CbkghEEvtBt
https://dl.doubtnut.com/l/_3M9TyCFgX7sE


13. Sum of the distances from A ( 3 , 4) to x -

axis and from B ( 5 , 7) to Y - axis is .....

A. 8

B. 10

C. 11

D. 9

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_3M9TyCFgX7sE


14. ( x , y) , ( 2 , 0) , ( 3 , 2) and ( 1 , 2) are vertices

of a parallelogram , then ( x , y) = ......

A. ( 0 , 0)

B. ( 4 , 8 )

C. ( 1 , 0 )

D. ( 5 , 0 )

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_dlwlMqSTbcsi
https://dl.doubtnut.com/l/_5msUqqSkyKdL


15. The graph represented by y =x is ......

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_5msUqqSkyKdL


16. The distance between two points

 is ....

A. a

B. 

C. 

D. 0

Answer: A

Watch Video Solution

A(a cos θ, 0), B(0, a sin θ)

a2

√a

https://dl.doubtnut.com/l/_sth82bJ7jvxN
https://dl.doubtnut.com/l/_WLGkc3JwOqCs


17. The area of the triangle BOA is .......sq. units .

A. 1

B. 2

C. 3

D. 4

https://dl.doubtnut.com/l/_WLGkc3JwOqCs


Answer: C

Watch Video Solution

18. Slope of the line passing through the

points ( 4 , 6) and ( 2 , - 5) is

A. 

B. 

C. 

D. 

6

5

−2

4

5

6

11

2

https://dl.doubtnut.com/l/_WLGkc3JwOqCs
https://dl.doubtnut.com/l/_zr55uCapdAte


Answer: D

Watch Video Solution

19. A point on the Y-axis is of form

A. (0 , y)

B. (x , 0)

C. (x , y)

D. ( y , y)

Answer: A

https://dl.doubtnut.com/l/_zr55uCapdAte
https://dl.doubtnut.com/l/_OoCrGO0SIQND


Watch Video Solution

20. A point of the X-axis is of the form

A. (0 , y)

B. (x , 0)

C. (x , y)

D. ( x , x )

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_OoCrGO0SIQND
https://dl.doubtnut.com/l/_WgbOmGIXaN30


21. AOBC is a rectangle whose three vertices

are A(4 , 0) , B (0 , 3) and O(0 , 0) , then its

diagonal is .....

A. 4

B. 3

C. 5

D. 7

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_WgbOmGIXaN30
https://dl.doubtnut.com/l/_w2OJhg3DXuid


22. The perimetre of a triangle whose vertices

are A(12 , 0) , O(0 , 0) and B( 0 , 5 ) is ......

A. 13

B. 30

C. 34

D. 60

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_w2OJhg3DXuid
https://dl.doubtnut.com/l/_vFXuRbf7vV14


23. The distance of the point (- 8 , 3) from the

origin is ....

A. 5

B. 55

C. 73

D. 24

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_abdfzvW1qAYA
https://dl.doubtnut.com/l/_6ZeUngl70RcQ


24. The distance of the point (- 4 , 3) from X-

axis is ....

A. 

B. 

C. 4

D. 3

Answer: D

Watch Video Solution

−4

−3

https://dl.doubtnut.com/l/_6ZeUngl70RcQ


25. The distance of the point ( - 8 , - 7) from y-

axis is .....

A. 8

B. 

C. 

D. 7

Answer: A

Watch Video Solution

−7

−8

https://dl.doubtnut.com/l/_Zpw7PWL5FsN9
https://dl.doubtnut.com/l/_zCMSFQZTwOYk


26. The points ( - 3 , 0) , ( 0 , 5) and (3 , 0) are

the vertices of a .....triangle .

A. scalene

B. isosceles

C. equilateral

D. right angled

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_zCMSFQZTwOYk


27. The distance between the points ( - 2 , 3)

and (2 , - 3) is ......

A. 0

B. 52

C. 

D. 16

Answer: C

Watch Video Solution

√52

https://dl.doubtnut.com/l/_qphTQozMjaXd
https://dl.doubtnut.com/l/_rK2oY0WT8Dl0


28. If the distance between the points ( 4 , y)

and (1 , 0) is 5 then y =

A. 0

B. 4

C.  4

D.  2

Answer: C

Watch Video Solution

±

±

https://dl.doubtnut.com/l/_rK2oY0WT8Dl0


29. The distance between the points (0 , 7) and

(-7 , 0) is .....

A. 

B. 49

C. 

D. 

Answer: D

Watch Video Solution

√14

2√7

7√2

https://dl.doubtnut.com/l/_DbZu1vSwlLu0
https://dl.doubtnut.com/l/_ECCwLrtCTMpJ


30. A circle is draw with origin as centre and

passing through ( 2 , 3) , then its radius is ...

A. 2

B. 3

C. 13

D. 

Answer: D

Watch Video Solution

√13

https://dl.doubtnut.com/l/_ECCwLrtCTMpJ


31. The area of the triangle formed by ( a , b + c

) , (b , c +a) and ( c , a + b) is

A. 2 ( a + b + c)

B. abc

C. 0

D. a + b + c

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_w3WNXfStavdB
https://dl.doubtnut.com/l/_U6RaTxVuwCpw


32. If points ( x , 0) , ( 0 , y) and ( 1 , 1) are

collinear, then  = .......

A. 1

B. 

C. 0

D. 2

Answer: A

Watch Video Solution

+
1

x

1

y

−1

https://dl.doubtnut.com/l/_U6RaTxVuwCpw


33. The point which divides the line segment

joining the points ( 3 , 4) and ( 7 , -6) internally

in the ratio 1 : 2 lies in the ......quadrant .

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Q1

Q2

Q3

Q4

https://dl.doubtnut.com/l/_2ZI3YqaQUSdR


34. The points (a , 2a) , (3a , 3a) and (3 , 1) are

collinear, then a = ......

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−1

4

1

3

−2

3

−1

3

https://dl.doubtnut.com/l/_FENOwC9djzUN
https://dl.doubtnut.com/l/_KlAbqHO6ibMg


35. P ( 2 , 2), Q ( - 4, 4) and R (5 , - 8) are the

vertices of a , then median from 'R' is

.....

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ΔPQR

√147

√157

4√17

2√13

https://dl.doubtnut.com/l/_KlAbqHO6ibMg
https://dl.doubtnut.com/l/_y9TEa2q2bUha


36. A circle drawn with origin as centre passes

through  . The point which doesn't lie

in the interior of the circle is .......

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( , 0)
13

2

( − 6, 3)

(5, )
1

2

(2, )
7
3

( , 1)
−3

4

https://dl.doubtnut.com/l/_y9TEa2q2bUha


37. The distance of the point ( - 9 , 40) from the

origin is .....

A. 9

B. 40

C. 53

D. 41

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_pewre2I4D0p7
https://dl.doubtnut.com/l/_O2P8UsF96s4Q


38. If ( - 2 , 8) and (6 , - 4) are the end points of

the diameter of a circle, then the centre of the

circle is .....

A. (3 , 6)

B. (4 , 2)

C. (2 , 2)

D. (-3 , 2)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_O2P8UsF96s4Q
https://dl.doubtnut.com/l/_wHNU1qiQdSaJ


39. The distance of a point  from the

origin is ....

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(α, β)

α, β

α2 + β2

√α2 + β2

√α2 − β2

https://dl.doubtnut.com/l/_wHNU1qiQdSaJ


40. The angle between X-axis and Y-axis is ......

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

0∘

180∘

360∘

90∘

https://dl.doubtnut.com/l/_7RHgcy8quQxS


41. The midpoint of the line joining of ( 2 , 3)

and ( - 2 , - 3) is .....

A. (0 , 0)

B. (2 , 3)

C. 

D. 

Answer: A

Watch Video Solution

(1, 1 )
1

2

( − 1, − 1 )
1

2

https://dl.doubtnut.com/l/_aBjwB2TNa9Uh
https://dl.doubtnut.com/l/_3dtWnyXGl20g


42. The slope of line join of (5 , -1) , (0 , 8) is .....

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

7
5

9

5

−
9

5

−
5

9

43. Slope of X-axis is .....

https://dl.doubtnut.com/l/_3dtWnyXGl20g
https://dl.doubtnut.com/l/_r0TxNCCz04oT


A. 0

B. 1

C. 

D. not defined

Answer: A

Watch Video Solution

−1

44. Slope of Y-axis is .....

A. 1

https://dl.doubtnut.com/l/_r0TxNCCz04oT
https://dl.doubtnut.com/l/_PAlKR8DYnxPI


B. 

C. 0

D. not defined

Answer: D

Watch Video Solution

−1

45. The centroid of the triangle whose vertices

are (2 , - 3) , ( 4 , 6) , (- 2 , 8) is

A. ( , )
8

3
17
3

https://dl.doubtnut.com/l/_PAlKR8DYnxPI
https://dl.doubtnut.com/l/_AzdBgEjN5vcT


B. (4, 11)

C. 

D. 

Answer: D

Watch Video Solution

( − 3, − 8)

( , )
4
3

11

3

46. Two vertices of a triangle are (3 , 5) and ( -

4 , -5) . If the centroid of the triangle is (4 , 3),

find the third vertex.

https://dl.doubtnut.com/l/_AzdBgEjN5vcT
https://dl.doubtnut.com/l/_YNaNsxWl4MUE


A. (13, 9)

B. (- 9 , - 13)

C. (9 , 13)

D. (13 , -9)

Answer: A

Watch Video Solution

47. The ratio in which the point ( 4 , 8) divide

the line segment joining the points (8 , 6) and

(0 , 10) is ......

https://dl.doubtnut.com/l/_YNaNsxWl4MUE
https://dl.doubtnut.com/l/_tAjuI11ILv94


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2: 1

1: 1

1: 2

3: 1

48. If (0 , 0) , (a , 0) and (0 , b) are collinear ,

then ......

https://dl.doubtnut.com/l/_tAjuI11ILv94
https://dl.doubtnut.com/l/_IyFl0z2nqrMq


A. ab = 0

B. a = b

C. a = - b

D. a - b = c

Answer: A

Watch Video Solution

49. If (-2 , -1) , (a , 0) , (4 , b) and (1 , 2) are the

vertices of a parallelogram then a = ....

https://dl.doubtnut.com/l/_IyFl0z2nqrMq
https://dl.doubtnut.com/l/_xKsLMkJMJvXN


A. 3

B. 2

C. 4

D. 1

Answer: D

Watch Video Solution

50. In the above problem b = .....

A. 3

https://dl.doubtnut.com/l/_xKsLMkJMJvXN
https://dl.doubtnut.com/l/_4kudfZMrogm6


B. 4

C. 

D. none

Answer: A

View Text Solution

−5

51. (- 2 , 8)  ......

A. 

B. 

∈

Q1

Q4

https://dl.doubtnut.com/l/_4kudfZMrogm6
https://dl.doubtnut.com/l/_uFZMMIoPuX4L


C. 

D. 

Answer: C

Watch Video Solution

Q2

Q3

52. If A , B , C are collinear then area of 

= .....

A. 2

B. 1

ΔABC

https://dl.doubtnut.com/l/_uFZMMIoPuX4L
https://dl.doubtnut.com/l/_nfBDW0VX8Gz7


C. 0

D. none

Answer: C

Watch Video Solution

53. Area of triangle formed by ( - 4 , 0) ,(0 , 0)

and (0 , 5) is ......sq.units.

A. 12

B. 10

https://dl.doubtnut.com/l/_nfBDW0VX8Gz7
https://dl.doubtnut.com/l/_d1DJqsoNpmCv


C. 13

D. 9

Answer: B

Watch Video Solution

54. The value of p if the distance between (2 ,

3) and (p, 3) is 5 is ......

A. 7

B. 9

https://dl.doubtnut.com/l/_d1DJqsoNpmCv
https://dl.doubtnut.com/l/_fYFA5cBAh5h6


C. 12

D. 5

Answer: A

Watch Video Solution

55. The value of k if the distance between (2 ,

8) and (2 , k) is 3 is ......

A. 

B. 10

4. 5

https://dl.doubtnut.com/l/_fYFA5cBAh5h6
https://dl.doubtnut.com/l/_J9JeKWRmGcBm


C. 9

D. 5

Answer: D

Watch Video Solution

56. A(0 , - 1) , B(2 , 1) and C(0 , 3) are the vertices

of  then median through B has a

length .......units.

A. 

ΔABC

9. 5

https://dl.doubtnut.com/l/_J9JeKWRmGcBm
https://dl.doubtnut.com/l/_OD3BoWvKAmkG


B. 10

C. 2

D. 9

Answer: C

Watch Video Solution

57. The closed figure formed by the points (-2 ,

0) , (2 , 0) , (2 , 2) , (0 , 4) and (-2, -2) is a ......

A. pentagon

https://dl.doubtnut.com/l/_OD3BoWvKAmkG
https://dl.doubtnut.com/l/_vJBlwbSPBimR


B. triangle

C. circle

D. none

Answer: A

Watch Video Solution

58. The coordinates of the midpoint joining

 and  is ....

A. 

P (x1, y1) Q(x2, y2)

( , )
x1 + x2

2

y1 + y2

2

https://dl.doubtnut.com/l/_vJBlwbSPBimR
https://dl.doubtnut.com/l/_QAuDhbAFvxaz


B. 

C. 

D. none

Answer: A

Watch Video Solution

( , )
x1 − x2

2

y1 + y2

2

( , 1)
x1 + y1

2

59. The coordinates of the point which divides

the line joining  and 

A. 

(x1, y1) (x2, y2)

( , )
mx2 + nx1

m + n

my2 + ny1

m + n

https://dl.doubtnut.com/l/_QAuDhbAFvxaz
https://dl.doubtnut.com/l/_VNEw9rZ23igP


B. 

C. 

D. 

Answer: A

Watch Video Solution

(0, )
m

n

( , )
mx2

m + n

ny1

m + n

( , )
mx2 + nx1

m − n

my2 + ny1

m − n

60. The centroid divides each median in the

……………ratio.

A. 3: 1

https://dl.doubtnut.com/l/_VNEw9rZ23igP
https://dl.doubtnut.com/l/_DrbAD0VrRMBW


B. 

C. 

D. 

Answer: D

Watch Video Solution

1: 3

1: 2

2: 1

61. If the distance between the points (3 , k)

and (4 , 1) is  then the value of k = .....

A. 8 or 10

√10

https://dl.doubtnut.com/l/_DrbAD0VrRMBW
https://dl.doubtnut.com/l/_Gntw7RRHGOoD


B. 4 or -2

C. 

D. none

Answer: B

Watch Video Solution

−1 or 2

62. If the points (1 , 2) , (-1, x) and (2 , 3) are

collinear then the value of x is .....

A. 9

https://dl.doubtnut.com/l/_Gntw7RRHGOoD
https://dl.doubtnut.com/l/_XC84e7h4RJ9v


B. 7

C. 0

D. 

Answer: C

Watch Video Solution

−1

63. If the centroid of the triangle formed with

(a , b) , (b , c) and (c , a) is O(0 , 0) then

 .....a3 + b3 + c3 =

https://dl.doubtnut.com/l/_XC84e7h4RJ9v
https://dl.doubtnut.com/l/_YQcoSR7l9cHK


A. a + b + c

B. 

C. 

D. 3 abc

Answer: D

Watch Video Solution

a + b + c

3

abc

3

64. The distance between two points A ( cos 

0 ) , B ( 0 , a sin ) is ....

θ

θ

https://dl.doubtnut.com/l/_YQcoSR7l9cHK
https://dl.doubtnut.com/l/_RH9h7zOBzNSv


A. 

B. a

C. 

D. 

Answer: B

Watch Video Solution

a

3

a2

a

2

65. Distance of (x , y) from X-axis is ......

A. y

https://dl.doubtnut.com/l/_RH9h7zOBzNSv
https://dl.doubtnut.com/l/_fWwfLhj1eSuR


B. 

C. 

D. none

Answer: A

Watch Video Solution

−x

−y

66. Distance of (x , y) from Y -axis is .....

A. 

B. y

−x

https://dl.doubtnut.com/l/_fWwfLhj1eSuR
https://dl.doubtnut.com/l/_RyJCINuhuyh9


C. x

D. none

Answer: C

Watch Video Solution

67. (x , 0) is a point on ......

A. X-axis

B. Y-axis

C. origin

https://dl.doubtnut.com/l/_RyJCINuhuyh9
https://dl.doubtnut.com/l/_eBsw0l1Pi4S9


D. none

Answer: A

Watch Video Solution

68. (0 , y) is a point on .....

A. (0 , 0)

B. Y - axis

C. X - axis

D. none

https://dl.doubtnut.com/l/_eBsw0l1Pi4S9
https://dl.doubtnut.com/l/_VXP12EosNgyh


Answer: B

Watch Video Solution

69. Distance of (x , y) from origin is ......

A. 

B. 

C. 

D. 

Answer: D

√x + √y

√x + y

√xy

√x2 + y2

https://dl.doubtnut.com/l/_VXP12EosNgyh
https://dl.doubtnut.com/l/_m1G9JD2NYfXg


Watch Video Solution

70. If  then  ......

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

a < 0 ( − a, − a) ∈

Q2

Q1

Q4

Q3

https://dl.doubtnut.com/l/_m1G9JD2NYfXg
https://dl.doubtnut.com/l/_ZV0g1itcOXgB


71. Coordinate geometry was introduced by ....

A. Rene Descartes

B. John Ven

C. Cayley

D. None

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ZV0g1itcOXgB
https://dl.doubtnut.com/l/_lu2UxlbO2asQ


72. Slope of the line y = mx is .....

A. y

B. x

C. m

D. none

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_vqIvOBe4G0Cr


73. Slope of the line joining the points (2a, 3b)

and (a , = b) is ......

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−a

b

b

a

b

4a

4b

a

https://dl.doubtnut.com/l/_pDhlC1pEGl2t
https://dl.doubtnut.com/l/_0OOFfxOAcuiE


74. Slope of the line joining the points A(-1 .4, -

3.7) and B(-2.4,1.3) is ....

A. 

B. 5

C. 6

D. 7

Answer: A

Watch Video Solution

−5

https://dl.doubtnut.com/l/_0OOFfxOAcuiE


75. (3 , -5)  .......

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

∈

Q4

Q3

Q1

Q2

https://dl.doubtnut.com/l/_U6ISXZ0Dv1NK


76. The angle between the lines x = 2 and y = 3

is .....

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

60∘

70∘

90∘

80∘

https://dl.doubtnut.com/l/_Wcfm3n05QfGX
https://dl.doubtnut.com/l/_n8thy7YfHHHm


77. Slope of vertical line is ........

A. 0

B. 

C. 3

D. not defined

Answer: D

Watch Video Solution

−1

https://dl.doubtnut.com/l/_n8thy7YfHHHm


78. Area of triangle formed with (-5,-1), (3,-5)

and (5 , 2) is ......sq.units.

A. 28

B. 20

C. 32

D. 16

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_0SmAXa4fAQ4w
https://dl.doubtnut.com/l/_mXG3vLOD5h0U


79. If the points (k,k),(2 , 3) and (4 , -1) are

collinear then k = ........

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

−1

7

1

2

3

7

7
3

https://dl.doubtnut.com/l/_mXG3vLOD5h0U


80. A(2 , 0) , B(1, 2) , C(1 , 6) then ......

A. 10

B. 12

C. 2

D. 9

Answer: C

Watch Video Solution

ΔABC =

https://dl.doubtnut.com/l/_kDR5g7lGaSrx


81. Identify collinear points .

A. (1 , - 6) (3 , - 4) , (4 , - 3)

B. (1 , -1) (2 , 3) , (2 , 0)

C. (5 , 2) (3 , -5), (- 5 , - 1)

D. all

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_AL6a7o90c1PO


82. The area of square formed with the

vertices (0, -1) ,(2 , 1) , (0 , 3) and (-2 , 1) taken in

order as vertices is .....sq.units.

A. 12

B. 6

C. 8

D. none

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_T1b8v1krCNKt


83. Find the coordinates of centroid of the

triangle with following vertices :  

(-1 , 3) , ( 6 , -3) and ( - 3 , 6)

A. 

B. 

C. 

D. (0 , 3)

Answer: B

Watch Video Solution

(AS1)

(1, )
1

2

( , 2)
2

3

(8, )
−1

2

https://dl.doubtnut.com/l/_nEl26syzzK0o


84. A(1 , - 1) , B(0 , 6) and C(-3, 0) then G = ......

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( , )
8

9

1

7

( , )
6

7

1

3

( , )
1

2

1

3

( , )
−2

3

5

3

https://dl.doubtnut.com/l/_oysVsP4m2cIO


85. The point of concurrence of medians of a

triangle is called.....

A. centroid

B. orthocentre

C. centre

D. none

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_exqyXpy59rhN
https://dl.doubtnut.com/l/_xdczBqVMqAr5


86. Mid point of the line joining the points (1 ,

1) and (0 , 0) is .....

A. (0,9)

B. (3 , 7)

C. 

D. 

Answer: C

Watch Video Solution

( , )
1

2

1

2

(1, )
1

2

https://dl.doubtnut.com/l/_xdczBqVMqAr5


87. The radius of the circle whose centre is (3 ,

2) and passes through (-5 , 6) is .......units.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2√5

4√7

4√3

4√5

https://dl.doubtnut.com/l/_sYEC2WQojbU0
https://dl.doubtnut.com/l/_zqzdBIqB630V


88. Area of parallelogram = ......sq.units.

A.  bh

B. bh

C. 

D. none

Answer: B

Watch Video Solution

1

2

b2h2

89. A(4 , 5) , B(7 , 6) then AB = ......units.

https://dl.doubtnut.com/l/_zqzdBIqB630V
https://dl.doubtnut.com/l/_WYb9OAEicTYC


A. 

B. 10

C. 8

D. 

Answer: A

Watch Video Solution

√10

√19

90. In quadrilateral ABCD, 

AB = BC = CD = AD and  then it is a

.....

AC ≠ BD

https://dl.doubtnut.com/l/_WYb9OAEicTYC
https://dl.doubtnut.com/l/_kkl8RScQNv9n


A. trapezium

B. square

C. parallelogram

D. none

Answer: D

Watch Video Solution

91. A(a , b) and B(-a, - b) then BA = .......units.

A. 2√a

https://dl.doubtnut.com/l/_kkl8RScQNv9n
https://dl.doubtnut.com/l/_oXmDJmZvCrzo


B. 

C. 

D. 

Answer: B

Watch Video Solution

2√a2 + b2

2√b

√a2 + b

92. If  is the angle made by a line with x-axis

then slope m = ......

A. 

θ

tan θ

https://dl.doubtnut.com/l/_oXmDJmZvCrzo
https://dl.doubtnut.com/l/_lBIlDI8iHYDB


B. 

C. cosec 

D. none

Answer: A

Watch Video Solution

sec θ

θ

93. A(4 , 0) , B( 8 , 0) then AB = ......units.

A. 6

B. 10

https://dl.doubtnut.com/l/_lBIlDI8iHYDB
https://dl.doubtnut.com/l/_ouceqg7f9M3s


C. 4

D. 12

Answer: C

Watch Video Solution

94. Other name for x-coordinate of a point is ....

A. abscissa

B. point

C. ordinate

https://dl.doubtnut.com/l/_ouceqg7f9M3s
https://dl.doubtnut.com/l/_2D0SQzMOcBWT


D. none

Answer: A

Watch Video Solution

95. (8 , 10)  .......

A. 

B. 

C. 

D. none

∈

Q2

Q1

Q3

https://dl.doubtnut.com/l/_2D0SQzMOcBWT
https://dl.doubtnut.com/l/_J8rN4VZ7QQVn


Answer: B

Watch Video Solution

96. Slope of horizontal line is ......

A. 3

B. 

C. 0

D. none

Answer: C

−1

https://dl.doubtnut.com/l/_J8rN4VZ7QQVn
https://dl.doubtnut.com/l/_ODt3aREiVNLy


Watch Video Solution

97. ax + by + c = 0 , represents a .........

A. straight line

B. circle

C. curve

D. none

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ODt3aREiVNLy
https://dl.doubtnut.com/l/_q7xLIAy2s1MI


98. Heron's formula to calculate area of

triangle is .....

A. 

B. 

C. 

D. none

Answer: B

Watch Video Solution

√S(S − a)(S − b)

√S(S − a)(S − b)(S − c)

√S(S − a)(S − b)(S + c)

https://dl.doubtnut.com/l/_q7xLIAy2s1MI
https://dl.doubtnut.com/l/_KfnKRRbn1ztB
https://dl.doubtnut.com/l/_zQgcVXdKE3kw


99. In Heron's formula S = .......

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

a − b − c

2

a + b − c

2

+ c
ab

2

a + b + c

2

https://dl.doubtnut.com/l/_zQgcVXdKE3kw


100. Coordinates of origin are ........

A. (a , b)

B. (3 , 7)

C. (0 , 0)

D. none

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_FMmk1IzjIeV4


101. A( 4 , 3) , B(8 , 6) then AB = ......units.

A. 9

B. 5

C. 16

D. 12

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_wdHhBJEvKoq4


102.  = .....

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

Q1 ∩ Q2

ϕ

{0}

{8, 4}

https://dl.doubtnut.com/l/_dkNzs4UfiDgN


103. If AC = AB + BC then the points A , B , C are

.......

A. non collinear

B. collinear

C. can't be determined

D. none

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Z8uinx1Bt7zJ
https://dl.doubtnut.com/l/_xnEgHZz0pW7V


104. Slope of the line  is ......

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

+ = 1
x

a

y

b

−b

a

b

a

a

b

https://dl.doubtnut.com/l/_xnEgHZz0pW7V


105. The midpoint of the line joining the

points ( 1 , 2) and ( 1 , p) is ( 1 , -1) then p = .......

A. 

B. 

C. 

D. none

Answer: C

Watch Video Solution

−31

−3

−4

https://dl.doubtnut.com/l/_ER8cY1tkvE4S
https://dl.doubtnut.com/l/_E8gQ4xjtTUw8


106. The centroid of the triangle formed with

the line x + y = 6 with the coordinate axes is .....

A. ( 4 , 0)

B. (1 , 3)

C. (8 , 1)

D. (2 , 2)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_E8gQ4xjtTUw8


107. Slope of the line joining the points ( 2 , 5)

and (k , 3) is 2 then k = .......

A. 4

B. 1

C. 

D. none

Answer: B

Watch Video Solution

−1

https://dl.doubtnut.com/l/_MN9bMRTjrCTr
https://dl.doubtnut.com/l/_UMsiQEy6uGnV


108. A point on X - axis is .......

A. (9, 0)

B. (0 , 3)

C. (9 , 3)

D. (3 , - 1)

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_UMsiQEy6uGnV


109. The slope of a line passing through ( - 2 ,

3) and ( 4 , a) is  then a = .......

A. 1

B. 7

C. 

D. 2

Answer: C

Watch Video Solution

−5

3

−7

https://dl.doubtnut.com/l/_3E5n8Vhk9tT4
https://dl.doubtnut.com/l/_huY3euCvOUjf


110. If (1 , x) is at  units from origin then

the value of x = .....

A.  31

B.  3

C. 2

D. 1

Answer: B

Watch Video Solution

√10

±

±

±

±

https://dl.doubtnut.com/l/_huY3euCvOUjf


111.  then BA = .....

A. 

B. 

C. 

D. none

Answer: A

Watch Video Solution

A = ( , ), B( , )
1

2

3

2

3

2

−1

2

√5

√6

√19

https://dl.doubtnut.com/l/_iHM2bugPr9ye


112. X and Y axes will intersect at .....

A. (1,1)

B. (2 , 2)

C. (0 , 0)

D. (8 , 5)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_wupvAmRL1kPI


113. In  then it is

.......triangle .

A. scalene

B. equilateral

C. isosceles

D. none

Answer: B

Watch Video Solution

ΔABC, AB = BC

https://dl.doubtnut.com/l/_QXxyhoC16tMG
https://dl.doubtnut.com/l/_9h2LjcPde1hX


114. Y axis can be represented by ......

A. x = 0

B. y = 0

C. 

D. all

Answer: A

Watch Video Solution

y =
1

2

115. y intercept of the line x - 2y + 1 = 0 is .......

https://dl.doubtnut.com/l/_9h2LjcPde1hX
https://dl.doubtnut.com/l/_qecI40Gp3KYs


A. 

B. 1

C. 

D. 

Answer: D

Watch Video Solution

−1

2

−1

1

2

116. If G is the centroid and AD be a median

with length 12 cm of ΔABC, then the value of

AG is

https://dl.doubtnut.com/l/_qecI40Gp3KYs
https://dl.doubtnut.com/l/_byQ5ImANEOJw


A. 4cm

B. 8cm

C. 10cm

D. 6cm

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_byQ5ImANEOJw


117.  


In the above figure AD : GD = ......

A. 

B. 

C. 

D. none

Answer: A

3: 1

1: 2

2: 1

https://dl.doubtnut.com/l/_hHYazN33LfoK


View Text Solution

118. equation of X - axis is .......

A. x = 0

B. x = 7

C. x = 1

D. y = 0

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_hHYazN33LfoK
https://dl.doubtnut.com/l/_3Rfuy5KlTUyr


119. If (p, 2p) , (2p, 3p) and ( 3 , 1) are collinear

then p = ........

A. 

B. 

C. 

D. none

Answer: D

Watch Video Solution

1

3

−1

−1

3

https://dl.doubtnut.com/l/_3Rfuy5KlTUyr
https://dl.doubtnut.com/l/_0i9vo0pJ2xqz
https://dl.doubtnut.com/l/_fQhC664AYJui


120. In , all the sides are diferent then

it is called ......triangle .

A. isosceles

B. scalene

C. equilateral

D. none

Answer: B

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_fQhC664AYJui
https://dl.doubtnut.com/l/_YVYzO3SmwFQp


121. In  then it is called

.......triangle .

A. isosceles

B. right triangle

C. equilateral

D. none

Answer: A

Watch Video Solution

ΔPQR, PQ = QR

https://dl.doubtnut.com/l/_YVYzO3SmwFQp


122. A ( 1, - 1) ,  , C (4 , 1) then area of

 = ........sq. units.

A. 2

B. 9

C. 0

D. none

Answer: C

Watch Video Solution

B(2 , 0)
1

2

ΔABC

https://dl.doubtnut.com/l/_IUnr0j1edoUJ
https://dl.doubtnut.com/l/_vvRNPrJjU4KK


123. The point of concurrence of attitudes of a

triangle is called its........

A. orthocentre

B. centroid

C. isosceles

D. none

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_vvRNPrJjU4KK


124. 

then  is .......triangle.

A. scalene

B. isosceles

C. equilateral

D. none

Answer: C

Watch Video Solution

A(2a, 4a), B(2a, 6a), C(2a + √3a, 5a)

ΔABC

https://dl.doubtnut.com/l/_uVkvwrRCV68i
https://dl.doubtnut.com/l/_2RFOG3dCiMhf


125. Angle made by the line y = x with the

positive direction of X-axis is .......

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

45∘

60∘

90∘

70∘

https://dl.doubtnut.com/l/_2RFOG3dCiMhf


126. Number of medians of triangle is .......

A. 5

B. 4

C. 7

D. 3

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_RRrtJ3tlvU7d


127. Slope of line y = 7 is ......

A. 1

B. 7

C. 0

D. none

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_cmapZAnfY7sF


128. If A (p , q) , B (m , n) and C ( p - m , q - n )

are collinear then pn = ......

A.  m

B. qm

C. 

D. none

Answer: B

Watch Video Solution

q2

q

m

https://dl.doubtnut.com/l/_wSazltH6qRFE
https://dl.doubtnut.com/l/_Pp7MGk6rEYdS


129. The area of below triangle is .......sq.units. 

A. 3

B. 8

C. 4

D. 6

https://dl.doubtnut.com/l/_Pp7MGk6rEYdS


Answer: A

Watch Video Solution

130.  


In the above problem y = ......

A. 3

B. 7

https://dl.doubtnut.com/l/_Pp7MGk6rEYdS
https://dl.doubtnut.com/l/_oinUnmNol9ru


C. 

D. 8

Answer: A

Watch Video Solution

−3

131. Area of trapezium = ...... Sq.units.

A. ph

B. h(a + b)

C.  h (a + b)
1

2

https://dl.doubtnut.com/l/_oinUnmNol9ru
https://dl.doubtnut.com/l/_YSdIfzcdpFW0


D.  (a + b)

Answer: C

Watch Video Solution

1

2

132. P (cos , - cos ) , Q( sin  , sin ) then PQ =

......

A. cos 

B. 

C. 0

θ θ θ θ

θ

sin2 θ

https://dl.doubtnut.com/l/_YSdIfzcdpFW0
https://dl.doubtnut.com/l/_d42jztdIACjr


D. none

Answer: D

Watch Video Solution

133. A(t , 2t) , B( - 2, 6) , C(3 , 1) and  ABC = 5

sq.units then t = ........

A. 9

B. 4

C. 

Δ

−9

https://dl.doubtnut.com/l/_d42jztdIACjr
https://dl.doubtnut.com/l/_a4OWLa80Sziv


D. 2

Answer: D

Watch Video Solution

134. The diagonals of a parallelogram whose

vertices are ( 2 , 3) , (4 , 5) , ( 4 , 9) and (2 , 7)

will intersect at ......

A. (0 , 0)

B. (5 , 6)

https://dl.doubtnut.com/l/_a4OWLa80Sziv
https://dl.doubtnut.com/l/_Z9PEiCY7LMx8


C. (0 , 9)

D. (3 , 6)

Answer: B

Watch Video Solution

135. Slope of the line 3x - 2 = 0 is ..........

A. 2

B. 3

C. 0

https://dl.doubtnut.com/l/_Z9PEiCY7LMx8
https://dl.doubtnut.com/l/_w4mNxJiRQXgz


D. not defined

Answer: D

Watch Video Solution

136. Each angle of an equilateral triangle

is…………

A. 

B. 

C. 

100∘

70∘

60∘

https://dl.doubtnut.com/l/_w4mNxJiRQXgz
https://dl.doubtnut.com/l/_OOxkJJRf6XPf


D. 

Answer: C

Watch Video Solution

90∘

137. A(cot  1 ,) , B(0 , 0) then BA = ......

A. 5

B. 4

C. 1

D. none

θ

https://dl.doubtnut.com/l/_OOxkJJRf6XPf
https://dl.doubtnut.com/l/_TSd5MLA01w2j


Answer: D

Watch Video Solution

138. Slope of the line joining the points A(0 , 0)

, B  is .........

A. 4

B. 1

C. 3

D. 7

( , )
1

2

1

2

https://dl.doubtnut.com/l/_TSd5MLA01w2j
https://dl.doubtnut.com/l/_D4210VWxTqEi


Answer: B

Watch Video Solution

139. (3 ,0) ,(8,0) ,  ...... Points lie on ......

A. X-axis

B. Y-axis

C. (0,0)

D. none

Answer: A

( , 0)
1

2

https://dl.doubtnut.com/l/_D4210VWxTqEi
https://dl.doubtnut.com/l/_c8P4RnDZK0Es


Watch Video Solution

140. (x, y)  then ......

A. x = 0 , y = 0

B. 

C. 

D. none

Answer: C

Watch Video Solution

∈ Q4

x < 0, y > 0

x > 0, y < 0

https://dl.doubtnut.com/l/_c8P4RnDZK0Es
https://dl.doubtnut.com/l/_gesuGXOoxZWp


141. y intercept of the line y = mx + c is .......

A. y

B. m

C. 1

D. none

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_gesuGXOoxZWp
https://dl.doubtnut.com/l/_mQievTVXmSF0


142. The midpoint of line segment divides it in

ratio

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1: 1

2: 1

1: 2

1: 4

https://dl.doubtnut.com/l/_SlNwRCmNPJuY
https://dl.doubtnut.com/l/_35PUPa3MHogr


143. Diagonalse in a parallelogram ....... Each

other .

A. equal

B. trisect

C. bisect

D. none

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_35PUPa3MHogr


144. The line joining the mid point of one side

of a triangle from opposite vertex in called ......

A. ortho centre

B. Median

C. centroid

D. none

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_av6lNyRSCfRJ
https://dl.doubtnut.com/l/_9fJrC5NAAyhP


145. The area of parallelogram is .......if 

= 5 sq.units.

A. 4

B. 3

C. 10

D. 9

Answer: C

Watch Video Solution

ΔABC

https://dl.doubtnut.com/l/_9fJrC5NAAyhP


146. x intercept of the line x - y + 1 = 0 is ......

A. 1

B. 2

C. 7

D. 

Answer: D

Watch Video Solution

−1

https://dl.doubtnut.com/l/_hMRGVdocxOga


147. In rhombus all sides are .........

A. equal

B. not equal

C. 3 cm

D. 8 cm

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_22A17OUzj2B9


148. If the point (4 , -p) lie on X - axis then

 = ......

A. 0

B. 1

C. 

D. 4

Answer: C

Watch Video Solution

p2 + 2p − 1

−1

https://dl.doubtnut.com/l/_t3XOCoAduoVz
https://dl.doubtnut.com/l/_yKjCdCvpJEPI


149. If the point (a , 5) lies on Y-axis , the value

of a = .....

A. 

B. 

C. a = 0

D. none

Answer: C

Watch Video Solution

a > 0

a < 0

https://dl.doubtnut.com/l/_yKjCdCvpJEPI


150. If the distance between the points

 and  is  then they

are parallel to .....

A. X - axis

B. XY - axis

C. X'Y = axis

D. Y - axis

Answer: A

Watch Video Solution

(x1, y1) (x2, y2) |x1 − x2|

https://dl.doubtnut.com/l/_MXkECPBRdT8k


151. The line that does not pass through origin

and having a zero slope is .......

A. Parallel to X - axis

B. Parpendicular to X - axis

C. Pependicular to Y - axis

D. Parallel to Y - axis

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_uI56P6vhCazg


Coordinate Geometry Multiple Choice Question

1. Find the perpendicular distance of that

point (3,-4) from the line .

A. units

B. 

C. 28 units

D. None

Answer: A

Watch Video Solution

2x − 5y + 2 = 0

28

√29

√29units

https://dl.doubtnut.com/l/_jqvw0nwM0EAx


2. Write the equation

 in the intercept

form……..

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x cos + y sin + 2 = 0
π

4

π

4

+ = 1
x

2√2

y

2

+ = 1
x

−2√2

y

2√2

+ = 1
x

2

y

3

+ = 1
x

5√2

y

5√2

https://dl.doubtnut.com/l/_jqvw0nwM0EAx
https://dl.doubtnut.com/l/_IFwLm4U8R1DQ


3. Find the area of  formed by the straight

line  on the co-ordinate

axes.

A. 

B. sq.units

C. sq.units

D. 0

Answer: C

Δle

x cos α + y sin α = p

p2

cos α

p2. cosec2α

p2

sin 2α

https://dl.doubtnut.com/l/_IFwLm4U8R1DQ
https://dl.doubtnut.com/l/_PSisVnsNukdY


Watch Video Solution

4. Find the distance between the parallel lines

 and 

A. 1 unit

B. 2 units

C. 3 units

D. 0

Answer: A

Watch Video Solution

3x − 4y = 12 3x − 4y = 7

https://dl.doubtnut.com/l/_PSisVnsNukdY
https://dl.doubtnut.com/l/_cc4ssRvXmSey


5. Find the incentre of the  with the

vertices ,(0,0) and (2,0)

A. 

B. 

C. 

D. (1,1)

Answer: C

Watch Video Solution

Δle

(1, √3)

(1, √3)

(√3, − √3)

(1, )
1

√3

https://dl.doubtnut.com/l/_cc4ssRvXmSey
https://dl.doubtnut.com/l/_yZXXc8tOtVmc


6. Line L has intercepts a and b on the

coordinate axes. When the axes are rotated

through a fixed given angle keeping the origin

fixed, the same line L has intercepts P and q,

then

A. 

B. 

C. 

D. None

+
1

p2

1

q2

−
1

p2

1

q2

p2 + q2 = 1

https://dl.doubtnut.com/l/_yZXXc8tOtVmc
https://dl.doubtnut.com/l/_lBwDbZd0VUPc


Answer: A

Watch Video Solution

7. Find the value of 'a' such that , 2a+3

and  and the sides of the .

A. a=5

B. 

C. 

D. 

a2 + 2a

a2 + 3a + 8 Δle

a > 5

a < 5

a < 4

https://dl.doubtnut.com/l/_lBwDbZd0VUPc
https://dl.doubtnut.com/l/_NpRjFP6LWIJI


Answer: B

Watch Video Solution

8. Find the equation of a straight line passing

through the point P(3,4) such that the portion

between the axes is divided by P in the ratio

2:3.

A. 

B. 

C. 

2x − y = 10

2x + 3y = 10

2x + y = 10

https://dl.doubtnut.com/l/_NpRjFP6LWIJI
https://dl.doubtnut.com/l/_Gv2PCPUma1fP


D. 

Answer: C

Watch Video Solution

4x + 5y = 10

9. The co-ordinates of the vertex of a square

ABCD are (1,2) and the equation of the

diagonal BD is x+2y=10. Find the equation of

other diagonal and the co-ordinates of the

centre of the square.

A. y − 2x = 0

https://dl.doubtnut.com/l/_Gv2PCPUma1fP
https://dl.doubtnut.com/l/_LNoQuiA2YOp2


B. 

C. 

D. None

Answer: A

Watch Video Solution

2x + y = 0

x + y = 0

10. IF  and 

 are perpendicular

find p.

y + x(2p + 1) + 3 = 0

8y − x(2p − 1) − 5 = 0

https://dl.doubtnut.com/l/_LNoQuiA2YOp2
https://dl.doubtnut.com/l/_glqMuduxJr5O


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

±
2

3

±
3

2

±3

±4

11. IF  and 

 are parallel then find k.

3(k − 1)y − 6x = 2

4y − 8x + 10 = 0

https://dl.doubtnut.com/l/_glqMuduxJr5O
https://dl.doubtnut.com/l/_TZsogMZfikgH


A. 1

B. -2

C. 2

D. 0

Answer: C

Watch Video Solution

12. IF  and 

are parallel find the value of p.

2y − p2x = 3 2y − (4px + 1) = 0

https://dl.doubtnut.com/l/_TZsogMZfikgH
https://dl.doubtnut.com/l/_OUYOEySIgeIV


A. 1

B. 2

C. 3

D. 4

Answer: D

Watch Video Solution

13. IF the points (a,1),(1,2) and (0,b+1) are

collinear. Then + = …….
1

a

1

b

https://dl.doubtnut.com/l/_OUYOEySIgeIV
https://dl.doubtnut.com/l/_531EkFeyiCwe


A. 1

B. 2

C. -2

D. -1

Answer: A

Watch Video Solution

14. Find the gradient of the line joining the

pair of points .(√3 + 1, 2), (√3 + 3, 4)

https://dl.doubtnut.com/l/_531EkFeyiCwe
https://dl.doubtnut.com/l/_lAVJgHG6pQY4


A. -1

B. 1

C. 2

D. -2

Answer: B

Watch Video Solution

15. If the points P=(a,2),Q=(1,3) and R=(5,b) are

such that PQ=QR. Find 'a' and 'b' if P,Q and R

are collinear.

https://dl.doubtnut.com/l/_lAVJgHG6pQY4
https://dl.doubtnut.com/l/_lBXwRe5eIff6


A. a=-3,b=2

B. a=3,b=4

C. a=-3,b=4

D. a=1,b=2

Answer: C

Watch Video Solution

16. Find the co-ordinates of incentre of the

triangle whose vertices are (-36,7),(20,7) and

(0,-8)

https://dl.doubtnut.com/l/_lBXwRe5eIff6
https://dl.doubtnut.com/l/_DhwkskGYG1Pf


A. (-1,0)

B. (1,2)

C. (-1,-2)

D. (4,5)

Answer: A

Watch Video Solution

17. The three vertices of Rhombus are (2,-1),

(3,4) and (-2,3). Find the fourth vertex.

https://dl.doubtnut.com/l/_DhwkskGYG1Pf
https://dl.doubtnut.com/l/_nGhFRsqy0MCT


A. (-1,-2)

B. (-3,-2)

C. (1,2)

D. (0,0)

Answer: B

Watch Video Solution

18. Find the ratio in which the point A=(16,-8)

divides the line segment joining B=(1,2) and C=

(10,-4).

https://dl.doubtnut.com/l/_nGhFRsqy0MCT
https://dl.doubtnut.com/l/_1niSm0WQIGKe


A. 

B. 

C. 

D. `

Answer: A

Watch Video Solution

5: − 2

1: 2

5: 2

3: 4

19. IF the distance of the point P(x,y) from A=

(a,0) be (a+x) then =……….y2

https://dl.doubtnut.com/l/_1niSm0WQIGKe
https://dl.doubtnut.com/l/_Wz0srmQwbdAu


A. 4

B. 4a

C. 4ax

D. x

Answer: C

Watch Video Solution

20. IF the point P(x,y) be equidistant from the

point A=(m+n,n-m), 

B=(m-n,m+n) then nx=………….

https://dl.doubtnut.com/l/_Wz0srmQwbdAu
https://dl.doubtnut.com/l/_YKYVeJko4pxw


A. my

B. m

C. y

D. none

Answer: A

Watch Video Solution

21. Find the distance between the two points

.(at2
1, 2at1), (at2

2, 2at2), t2 > t1

https://dl.doubtnut.com/l/_YKYVeJko4pxw
https://dl.doubtnut.com/l/_muhgiErD0Snp


A. 

B. 

C. 

D. None

Answer: A

Watch Video Solution

a. (t2 − t1). √(t1 + t2)2 + 4

(t2 − t1)√(t1 + t2)2 − 4

(t2 − t1)√4(t1 + t2)

22. Find the equation of the line passing

through the point (4,5) and making an angle

of  with the line .
π

4
2x − y + 7 = 0

https://dl.doubtnut.com/l/_muhgiErD0Snp
https://dl.doubtnut.com/l/_czrDYuJHkMrY


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x + 3y + 10 = 0

x − 3y + 11 = 0

2x + 3y + 4 = 0

x + y + 1 = 0

23. A line passes through the point (22,-6). IF

the intercept on the x-axis exceeds the

intercept on the y-axis by 5. Find its equation.

https://dl.doubtnut.com/l/_czrDYuJHkMrY
https://dl.doubtnut.com/l/_bc27ugxShJLa


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x + 2y = 3

5x + 45y = 7

6x + 11y = 66

x + y + 1 = 0

24. IF the points

 are

collinear find 't'.

A(1 + t, 1), B(1 + 2t, 3), C(2t + 2, 2t)

https://dl.doubtnut.com/l/_bc27ugxShJLa
https://dl.doubtnut.com/l/_yuEgrO5XSOQE


A. 1

B. -1

C. -2

D. 

Answer: D

Watch Video Solution

−
1

2

25. The straight line x+y=0, 3x+y-4=0 and x+3y-

4=0 from a triangle which is

https://dl.doubtnut.com/l/_yuEgrO5XSOQE
https://dl.doubtnut.com/l/_isWeRUXHqDle


A. Isosceles

B. Right angle

C. Equilateral

D. Scalene triangle

Answer: A

Watch Video Solution

26. The vertices of a  are A=(-2,8), B=(1,2), C=

(7,-1). Find the equation of median through A.

Δle

https://dl.doubtnut.com/l/_isWeRUXHqDle
https://dl.doubtnut.com/l/_6XW8osdWeNoO


A. 

B. 

C. 

D. None

Answer: A

Watch Video Solution

5x + 4y = 22

x + y + 1 = 0

2x + 3y = 0

27. If the three vertices of a Rectangle are the

points (2,-2),(8,4) and (5,7) find the co-

ordinates of fourth vertex.

https://dl.doubtnut.com/l/_6XW8osdWeNoO
https://dl.doubtnut.com/l/_2X37Xy3h6NrJ


A. (-1,1)

B. (1,-1)

C. (0,0)

D. (1,2)

Answer: A

Watch Video Solution

28. Given , find the fixed point

which passes through the straight line

+ = k
1

a

1

b

+ = 1
x

a

x

b

https://dl.doubtnut.com/l/_2X37Xy3h6NrJ
https://dl.doubtnut.com/l/_yObkOMucwpzR


A. (1,1)

B. (k,k)

C. 

D. (0,0)

Answer: C

View Text Solution

( , )
1

k

1

k

29. IF a,b,c are in A.P then the striaght line

 will always pass through a

fixed point. Find it.

ax + by + c = 0

https://dl.doubtnut.com/l/_yObkOMucwpzR
https://dl.doubtnut.com/l/_Rw0zWvBLWLaq


A. (1,2)

B. (1,-2)

C. (2,3)

D. (0,0)

Answer: B

Watch Video Solution

30. A line is such that its segment between the

axes is bisected at the point  Find the

equation of that line.

(x1 : y1)

https://dl.doubtnut.com/l/_Rw0zWvBLWLaq
https://dl.doubtnut.com/l/_1G6usuau29TA


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+ = 1
x

2x1

y

2y1

+ = 1
x

2

y

3

ax + by = c

y2 = 4ax

https://dl.doubtnut.com/l/_1G6usuau29TA

